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| Part II 3-Tier

PHYSIOLOGY
PAPER~-II
(General)

Full Marks : 90

: _ Time : 3 Hours
'The figures in the right hand margin indicate full marks.
| Candidates are required to give their answers in their

! ‘own words as far as practicable.

Nustrate the answers wherever necessary.

: Group—A

| Answer any two questions, taking one question

from each Sub-groups. 2x15

‘ Subgroup—A(a)

(a) Describe briefly the histological structure of Spinal
Cord with a labelled diagram.
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(b) Mention the origin, course and transmission of
Pyramidal tracts in cur body.

{c) What is motor unit? (2+3)+(3+5)+2

2. (a) Describe briefly the mechanism of skeletal muscle
contraction.

(b) Describe the properties of red and white muscles.

(¢) What do you understand by all or none law and
fatigue in muscles ? T+(2+2)+(2+2)

'3. (a) Describe the histological structure of neuro-muscular
junction,

(b) Briefly describe the mechanism of sweat secretion in
human body.

C

(c) What is sebum ? ' 7+6+2

Subgroup—A(b)

4, (a) State histological structure between hyperactive and
hypoactive thyroid gland.

(b) Mention the names of hormones secreted from thyroid
gland including their function in brief.

{c) Name the hormones secreted from istets of
Langerhans. : 6+(2+5)+2
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5.: (a) Describe in brief the mechanism of colour vision,

(b) Describe the auditory pathway with a labelled
diagram. '

' (c) What is Argyll-Robertson pupil ? 6+{2+5)+2

|
'G.I‘ (a) Describe the histological structure of ovary.

(b) Describe briefly the development of mammary gland
i in female,

' {c) State the functions of progesterone in human body.
' 6+6+3

‘Group—B
A:J'lswer any five questions, taking at least: two questions
! from each Subgroups. 5x8
' Subgroup—B(a)

|
| o
7. {a) Describe briefly the function of cerebral cortex.

{b) Mention the function of cerebellum. 4+4

87' (a) Briefly describe the role of Hypothalamus on the
i regulation of water balance in human body.

(b} What is spinal animal ? 5+3
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10.

11.

12.

13.

14.

(@)
(b)

(a)

(b)

(a)

(b}

a)
(b)

(a)

(b)

(a)
(b)

Briefly discuss about formation of CSF.

Mention the function of CSF? 4+4

What do you mean by regeneration of nerve fibre ?

How does degeneration of nerve fibre take place ?
' 2+6

Discuss in brief the role of endocrines in body
temperature regulation.

What is the significance of body temperature ?
6+2

Subgroup—B(b)

Briefly describe the endocrine function of kidneys.

What are prostagianding ? Mention their function.
4+(1+3)

Name the hormones secreted from anterior pituitary.

State the function of GH in human body. 3+5

Describe the mechanism of hearing.

Mention the different types of colour blindnesses.
6+2
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15 (a) Describe the ‘histological structure of parathyroid
| i
: gland.

(b} Write down the functions of parathormone. 5+3

16! (a) Mention the causes of Diabetes mellitus.

' (b) Distinguish between Type-I and Type-II diabetes.

1 ' 4+4
| Group—C
Apswcr any five questions, taking at least fwo questions
from each Subgroups. 4x5
‘ .
| Subgroup—C(a)

17. (a) What is EPSP? -
|
~(b) What do you mean by rheobase and chronaxie ?

| 1+(13+13)

18. (a) What is saltatory conduction of nerve impulse ?

' (b) What is indefaligability of nerve fibre ? 2+2
!
19. (a) Describe the functions of sympathetlc nervous system

i on heart.

. {b) Describe the functions of parasympathetic nervous

: system on GI tract.: 2+2
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20.

21.

22,

23.

24,

25.

26.

(a) What do you mean by sarcotubulur system.

(b) What is muscle spindle? 2+2

Describe two important proporties of reflex action.
2+2

Subgroup—C(b)

(a) What is Gastrin?

(b} State the functions Gastrin in human body. 2+2

{a) What do you mean by CFF?

(b) What is presbyopia ? ' 2+2
Mention the names of hormones secreted from adrenal
cortea including their functions in brief. 2+2

{a) What do you understand by primary and accessory
sex organs?

(b) What are secondary sex characters ? 2+2

(a) What is erythropoietin?

(b) State the role of erythropoietin in human body.
2+2
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